INLET DUCT FOR CISCO 7004

Part Number(s): DIRBB2007S21W

PANDUIT

© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B
For a Net-Access Legacy Rear of Cabinet
or Net-Access N-Type (Hot Aisle)
Switch Cabinet
(CN*** or N***)
1 | i 7004
b L :Ef%nlet Duct

7A = A A A =i = A

=
/ A
/ \
. .
o, .
o / A
- / = > ™ = A\
b/ i
/ .
>/ / L v
o)/ fo:) . .
4
4 R [ \
\ ={ /) .
g OO0 0685000000040 OO0 TT000000000808008606000670 .
S S e S S 2 "
A . -

Front of Cabinet
(Cold Aisle)

Component Guide

(1) Left Hand
Bracket

10
Q

=4

(2) Adjustable
Brackets

(1) Side Duct
Mounting Bracket A

Note: Bracket Has (2)

Notches on the Top

1) Right Hand
M B‘rgacketa“ (1) Side Duct
[ IS\
Q Q
Q < Q
0]
Q Q
Q Q

(1) Side Duct

Mounting Bracket C
For (FSNA110-820 series server)

(1) Side Duct

Mounting Bracket B

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 11



© Panduit Corp. 2012

INSTALLATION INSTRUCTIONS

CM643B

STEP 1

Device Placement (Legacy Cabinets Only)

* Due to physical constraints posed by the front-to-back beams on the Net-Access Legacy cabinet, there
are certain areas of the cabinet that the device can not be mounted in when used in conjunction with this

inlet duct.

» For Net-Access Legacy cabinets, front equipment rails need to be in full forward position and the rear

equipment rails need to be 24.25" - 26.12" back.
NOTES: Numbers-up RU numbering (#1 at bottom) assumed.

45 RU Net-Access CN*** Cabinet

(Legacy)

-

&)
— T T

i ] l
e

42 RU Net-Access CN*** Cabinet
(Legacy)

&)
— T T

Device
Keep-Out Area
RUs 42-45

Device Can Be
Installed in
RUs 24-41

Device
Keep-Out Area
RUs 39-42

o & &

Device Can Be
Installed in
RUs 24-38

Device i1
Keep-Out Area
RUs 20-23

Device Can Be
Installed in
RUs 3-19

C CO CJ cCJ CF CJ CJ C o CJ CP C| CJ Cg & CJ 07 0J 0 0J 0J @ d7 dJ 0J dl 4 & &5

B

1 Device
Keep-Out Area

RUs 20-23

Device Can Be
Installed in
RUs 3-19

Cp C c©J c cCF CJ cJ Cc) c CJ P C| . Cy & C 07 0dJ o oJ 0J @ d7 o] ol dl

&

) CJ O CJ b O o o cJ C] Ch .1 o ¥ ] O oy 0 o o a7 o) ooy a o o o o] &3

ix]

P

ol |

L Keep-Out Area

RUs 1-2

Device

CJ cCJ CJ o b . ©J o oJ CJ b CJ CJ ¥ o] O oh O o o o oo b o o ol o o] =&

&

(N
=]

o[ |

B e S S A A A A R A A S A U W A U S VAN S N VI S

@ _o I

Device

Keep-Out Area
RUs 1-2

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

STEP 2
Device Placement (N-Type Cabinets Only)

* For Net-Access (N***) Cabinets, there are no device keep out areas. The only restriction on the switch
placement is that 2 RU must be left open above the switch.
* For Net-Access (N***) cabinets, front equipment rails need to be in full forward position and the rear
equipment rails need to be 24.25" - 26.12" back.
NOTES:
Numbers-up RU numbering (#1 at bottom) assumed.

Device Device
Keep-Out Area Keep-Out Area

RUs 44-45 45 RU Net-Access RUs 41-42 42 RU Net-Access

l N#**% Cabinet l N#*** Cabinet

Device Can Be
Installed in
RUs 1-40

Device Can Be
Installed in
RUs 1-43

LU U UULUUREUEY UYWL UYL Y LU UEUURY
T GG LC O DO O OO0 000000000 N000C0CCR0000 0

YR Y Y R Y Y v R Y R VR R Y R VYV VLV YV VY L VL VR VL VYR VA VY
S I B GGOGC 0000000000000 000G 000000 CR00000000G00

]

® .. ® ® o .. s ¢ ® ® .. ® o
o ° (-] PRI BESHEN

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

STEP 3
Left / Right Hand Bracket Installation

* Using (2) #10-32 nuts, attach (1) adjustment bracket to the left hand bracket. Set adjustment bracket to
fit equipment rail spacing.

» Using (2) #10-32 nuts, attach (1) adjustment bracket to the right hand bracket. Set adjustment bracket
to fit equipment rail spacing.

» Attach the left hand and right hand brackets to the cabinet with (8) #12-24 screws and (8) #12 star

washers.
Equipment Rail
Spacin
P g Rear of Cabinet
Adjustment = (Hot Aisle)
Bracket === = T
Left Hand 5l (8) # 12 Star
Bracket : Sl Washers
(8) #12-24 A i .
Screws ‘ 2 = .
u: >/: N /: -
& Sl ‘. —t
i< -
i _ i Al ‘
Nuts Bracket - :/ e . . l:i;
" G |
Adjustment T
Bracket - j i !
Right Hand (2);;12 32 : i
Bracket uts i Al
ﬁ E Right Hand
N M Bracket
N N / _qi
~e L iy

Front of Cabinet
(Cold Aisle)

Equipment Rail
Spacing

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 4 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

STEP 4
Attaching Flap Seal to Side Duct

» Attach (1) strip of flap seal to

Side Duct

Flap Seal

/
/

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 5 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

STEP 5

Attaching Side Duct Bracket A to Side Duct
» Using (2) #10-32 nuts, loosely attach side duct bracket (A) to the side duct.

Side Duct

Side Duct
Bracket A

(2) #10-32 Nuts

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 6 of 11



© Panduit Corp. 2012

INSTALLATION INSTRUCTIONS CM643B

STEP 6

Attaching Side Duct to Right Hand Bracket (Day 1 Installation)

« Slide the (2) threaded studs on the side duct into the (2) slots in the right hand bracket.
* Secure the side duct to the right hand bracket with (2) #10-32 nuts.

Rear of Cabinet

(2) #10-32 Nuts

=
[=a1]
. [
(Hot Aisle) .
%
- osllen
.~‘§~ = \-;E ('z [=at}
i e = B i
:;‘ 1M B f . )
e L 1
| - HEE e
H | - 1] [ e
iehi | et 1o
B - (=115 e
L] - sl [ 1
1a A et [ g
it Tl - 14
B Tl 1
Frid| - )=l I E(E 2
1B et o .
i el 14 < Side Duct
T || 2 e [ o
il L | \\ /
3t z Nt | = / Cdl el <
[P 2 et 5 2 I <
| el B < — |l
P - el [ = | |
=t el - o i
I,E§Z?if o
I = 4
: et [ e
(e o -
el o
el £l
tel: o
ol i¥
[t e
1 o )
) =8 B nght Hand
inag 4
fet gE Bracket
)= B
Ji=8 o
{nj(==l1¥ B
et o
el 1=
==& B
i : 3
ige >
N B

Front of Cabinet
(Cold Aisle)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 7 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

STEP 7
Attaching Side Duct to Right Hand Bracket (Day 2 Installation)

* From the Rear of the cabinet, slide the side duct into place with the (2) threaded studs on the side duct into
the (2) slots in the right hand side bracket.
* Secure side duct to right hand bracket with (2) #10-32 nuts.

Front of Cabinet
(Cold Aisle)

Right Hand
Bracket

Side Duct

Rear of Cabinet

0)

=Y
®

\
|
LY

/;Q /L\\Q\a a\‘//

N A

iy

LN

S, o © o_.° o o9

A

(2) #10-32
Nuts

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 8 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

STEP 8
Attaching Side Duct Bracket B

» Slide the tab on side duct bracket B into the slot on side duct bracket A.
» Secure side duct bracket B to the cabinet with (2) #12-24 screws and (2) #12 star washers.
» Tighten the (2) #10-32 nuts on side duct bracket A that were previously left loose.

Front of Cabinet Side Duct
(Cold Aisle) Bracket B

£

(&)
79
o

o
£

M

-—4‘T‘

i
o
£
\
\

(@]
\

£
N

\Czzzrrrrroreor

A =)
— VY

7

0

—d

Re?ﬁgf ACizslll:)net Front of Cabinet ]S;de ll()‘:i
(Cold Aisle) racke
(2) # 12 Star Side Duct
(2) #12-24 Washers Bracket B

Screws

SQ

L 1S

- i

A &
H=S . i — |
. e |
T I
1 o - i
Rear of Cabinet Mo "o

(Hot Aisle)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 9 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

OPTIONAL STEP 8

Attaching Side Duct Bracket C For (FSNA110-820 SERIES CABINET)

» Slide the tab on side duct bracket C into the slot on side duct bracket A.
» Secure side duct bracket C to the cabinet with (2) #12-24 screws and (2) #12 star washers.
» Tighten the (2) #10-32 nuts on side duct bracket A that were previously left loose.

Front of Cabinet

(Cold Aisle) Side Duct
Bracket C

Rear of Cabinet Front of Cabinet Hole Identifies Side Duct

(Hot Aisle) (Cold Aisle) Bracket C Bracket A

() # 12 Star Optional Side Duct
(2) #12-24 Washers Bracket
Screws /
Dy
kSl
— Q
] ,
_— ‘@ /
M — — Q%( /
a
e Iy o
Rear of Cabinet = Lo
(Hot Aisle) Mo "o

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 10 of 11



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CM643B

STEP 9
Installing Inlet Duct Box

» Install the inlet duct box by sliding the box into the left hand and right hand brackets, along built in guide
flanges and securing with (2) #10-32 nuts.

Rear of Cabinet

=y (Hot Aisle)

O
Q
§ -;/¢/

n\\

A\

%

Inlet

L

(2) #10-32 Nuts

09 T SN O A O SO Ao oI O a0 000000000800 0800008008000 88\

Front of Cabinet
(Cold Aisle)

For Instructions in Local Languages m n “ IT N E-mail: i
and Technical Support: techsupport@panduit.com
www.panduit.com/resources/install_maintain.asp www.panduit.com 866{)4{‘()0;-‘2654

Page 11 of 11




